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SST Solve-A-Problem — Junior

1 had 7 kittens but 2 ran away. how many have 1 now ??

SST Solve-A-Problem — Al

There is a family with four children. Between each child there is an age difference of 2 years
. The oldest child, Maryanne is less than 11 years old.
The youngest child, Tom, is older than 5.

In between Maryanne and Tom are the twins — Claudia and Cassie. What is the age of each child
in this family?

SST SOLVE A PROBLEM -CHALLENCE

Six business people meet for lunch and shake hands with each
other. How many handshakes are there?




